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QUESTION 1

Which statement is true when IBM releases a Fixlet for a patch?

A. IBM includes the binaries with Fixlet content.

B. IBM determines the Source Severity for the Fixlet.

C. IBM tests the vendors patch for validity before publishing the Fixlet.

D. IBM ensures that the Fixlet will run as designed within IBM Endpoint Manager but does not certify the patch
contents.

Correct Answer: C

QUESTION 2

A task has been developed which upgrades the corporate VPN client to the latest version. The administrator is required
to Take Action on this task while giving end users the option of whether or not they would like to install this version. How
is this accomplished?

A. Offer tab of the Take Action dialog

B. Messages tab of the Take Action dialog

C. Pre-Action tab of the Take Action dialog

D. Notification tab of the Take Action dialog

Correct Answer: B

QUESTION 3

When Send Refresh is sent to a computer (or group of computers) using the IBM Endpoint Manager (IEM) console, how
does the endpoint respond?

A. The client evaluates new content and sends applicability responses back to the IEM server.
B. The client sends a heartbeat back to the IEM server and returns the results of all client settings and properties.

C. The client on the endpoint immediately resets its evaluation cycle and begins evaluating content in the evaluation
cycle again.

D. The client sends a heartbeat to the IEM server. It then sends the results of any cached information to the IEM server.
The client then flushes any cached information and begins evaluating all content.

Correct Answer: A

QUESTION 4
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While checking the state from a recently deployed action, a user notices that it is showing as 100% complete but still in
an Open state. Why?

A. The action will remain open until closed.

B. The ends on value of the action has not been reached.

C. The action will remain open until closed by a master operator.

D. The last reporting client of the action has not sent the Close action command yet.

Correct Answer: C

QUESTION 5

When does a Fixlet become not applicable to a computer?

A. When all relevance statements for the Fixlet are true.

B. When only one relevance statement for the Fixlet is true.

C. When at least one relevance statement for the Fixlet is false.

D. When the computer is subscribed to the site that contains the Fixlet.

Correct Answer: A
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